WBp.. x == M -oma
ol SH—G I
kan. 20 =— 160 a0p
+0p. 100 =110 wop.
460 3¢ 140 17600

______ =——— =%/,,, oop. — 12 rpaum.
44 x20 X 100 88000

28) T. xato npo/xaBalue oka Opammo mo 12

Kpaunapa, cmmyean 10 °/ — 3a Koake ‘e 3eIb
Kanrapa ?
ebp. X =i gaur.

kanr. 41 = 44 oxn.
OK. 1 = 12 xpann.
kpamy, 60 — 4 woop.
oop. 110=100 v0p.
44 12 x 100 52800

60 x 110 6600

— 8 wop.
1
29) Ejuws mxontupa wbmuteimmya ore 1200
@0p. ¢b 61/, °/, 3a 68 gun — Kamm : KoAKO u3ma-
© ancuonn-a?

e0p. x = 1200 oop.
@0p. 100 == 63 amn.
Am. 360 = 61/, o)
1200 X 63 x 13 982800

L R Fmes = 1378 iwop. ]

100 X 360 x 2 72000

30) Egumnn Tapropels mpojaBa eIHO Tecte KHi-
ra, mo 15 kpamnapa, a kymuwrs e Gaxa-ra no 46 vop.
-— KaiH: KOAKO meyeanm nan ry6m ma 100 ?

20p. x = 100 ®0p.
@0p. 40 = 1 6Gaa.




